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W x4 S ARG | TAURG) | shsRln | wamoo (& #| T0® |
Abw—) wAvh Abw—) wAvh Abw-4 wAvh Abw-4 5 Avh

1|’ wWE (HEREIX) 73 50 76 46 76 48 144 73 |75.0 | 176
2 | JEm o FAT = X 77 47 75 48 75 49 80 35 144 | 75 |76.8 | 80
3 | HExARHEZ (68 H.1X) 82 30 76 46 77 42 76 48 136 | 76 |77.8 | 82
4 | /N JRZ (e %) 79 45 83 9 75 49 78 42 136 75 |78.8 | 83
5 | A HETERER F X) 74 49 83 9 78 38 77 44 131 74 |78.0 | 83
6 | BAn (FBHLX) 80 41 81 23 71 50 79 40 131 71 |77.8 | 81
7| HATH—RR (A ) 86 6 75 48 80 25 75 50 123 75 179.0 | 86
8 | /NEE il (F§ X) 82 30 76 46 77 42 80 35 123 76 |78.8 | 82
9 | B EE (B X) 81 34 80 28 78 38 76 48 120 | 76 |78.8 | 81
10 | BEFHZH (LX) 79 45 79 30 80 25 77 44 119 | 77 |78.8 | 80
11| By (F ) 76 48 78 35 83 10 80 35 118 | 76 [79.3 | 83
12 | =38 1EH (k. X) 81 34 77 41 82 15 79 40 115 77 179.8 | 82
13 | ot mk (hk %) 81 34 76 46 80 35 115 76 179.0 | 81
14 | K —Rk h X) 82 30 78 35 78 38 79 40 113 78 |79.3 | 82
15 | /MR HH (A X) EA e 77 41 76 46 84 15 102 76 179.0 | 84
16 | EF FEIL (HHEX) 83 22 81 23 78 38 79 40 101 78 80.3 | 83
17 | BH SR | RErBX) | 86 6 76 46 FHIR S 76 48 100 | 76 |79.3 | 86
18 | i fEw] (M X) 80 41 76 46 84 5 85 6 93 76 |81.3 | 85
19 | BARE—RE (FHEX) 88 0 70 50 FHIR S 78 42 92 70 | 78. 88
20 | Bl HENE 7 X) 84 15 FEHe 77 42 80 35 92 77 180.3 | 84
21 | T B (B 7-1X) 81 34 82 17 78 38 94 0 89 78 [83.8 | 94
22 | HT B (LX) 80 41 76 46 ER e 87 76 |78.0 | 80
23 | JIH FHE | BRLraxX) | 84 15 86 0 81 18 75 50 83 75 |81.5 | 86
24 | tRH =k (7 X) 82 30 85 0 78 38 84 15 83 78 82.3 | 85
25 | WEEE ME " X 82 30 78 35 81 18 86 4 83 78 181.8 | 86
26 | & HufE (BB RL1X) 79 45 80 35 80 79 79.5 | 80
27 | BRSO FRA (v X) 90 0 87 0 75 49 81 28 77 75 183.3 | 90
28 | MAJE R (B 7 IX) 83 22 80 28 81 18 82 26 76 80 |81.5 | 83
29 | FMDRME (B 1-X) 80 41 82 17 95 0 84 15 73 80 |85.3 | 95
30 | #BEH 5L (FBHIX) 82 30 82 17 79 26 89 0 73 79 [83.0 | 89
31 | MBA DtiE (&RX) 79 45 81 23 90 0 FHTR S 68 79 183.3 | 90
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32 | UK e (HHEX) 82 30 78 38 68 78 | 80. 82
33 | URRFE— (HFHEX) 86 6 78 35 85 1 82 26 67 78 |82. 86
3 | £ (F X) 80 41 AT R Y 82 26 67 80 |81. 82
3B | K& E (& ) 83 22 82 17 80 25 83 20 67 80 | 82. 83
36 | THE O (& X) 80 41 81 23 88 0 87 2 66 80 |84. 88
37 | W i (% X) 88 0 80 28 78 38 66 78 |82. 88
38 | HF FndA (&RIX) 84 15 74 49 90 0 64 74 | 82. 90
39 | B L) (FBHLX) 85 10 78 38 84 15 63 78 | 82. 85
40 | HERE HEZ 7 X 83 22 77 41 89 0 63 77 |83. 89
41 | FArEB e (B X) 84 15 76 46 61 76 | 80. 84
42 | A R ( X) 92 0 77 41 86 0 84 15 56 77 | 84. 92
43 | BH B2z (&RX) 95 0 82 17 78 38 05 78 | 85. 95
44 | BER L (M %) 82 17 78 38 55 78 | 80. 82
45 | #iR EE o X) 87 0 81 23 82 15 84 15 53 81 |83. 87
46 | A A (=IRIX) 86 6 82 17 86 0 81 28 51 81 |83. 86
47 | R IR REsAK) | T8 46 86 0 87 0 46 78 |83. 87
48 | FIR 3O = X) 88 0 91 0 83 10 80 35 45 80 |85. 91
49 | B F& (FBHLIX) M H RS 80 25 83 20 45 80 |8I. 83
50 | FHEF (B&1-1X) PN 77 42 87 2 44 77 |82 87
51 | kR W (&RX) 86 6 81 23 82 15 44 81 |83. 86
52 | &1 R (F X HHTR Y 82 15 82 26 41 82 |82. 82
53 | AH F— (A X) 91 0 77 41 FHT R Y 90 0 41 77 | 86. 91
54 | EH Wt (H X) 80 41 92 0 41 80 | 86. 92
55 | KH A& (FBHIX) 77 41 41 7|71, 77
56 | M M (e X) 87 0 86 0 90 0 79 40 40 79 |85. 90
57 | By EK (e 1X) 80 28 84 5 85 6 39 80 |83. 85
58 | P BLA (P21 IX) 78 38 38 78 | 78. 78
59 | AN filt (hk %) 85 10 87 0 83 10 84 15 35 83 |84. 87
60 | A FIE (LX) 87 0 78 35 86 0 91 0 35 78 | 85. 91
61 | FHIE  HEIL R X) 89 0 79 30 85 1 31 79 | 84. 89
62 | RNE—H | PRErBX) | 83 22 83 9 88 0 31 83 |84. 88
63 | #JF =K (e 1X) 87 0 93 0 82 15 84 15 30 82 |86. 93
64 | Al RiA (B 5LIX) 86 6 83 9 96 0 84 15 30 83 |87. 96
65 | LM SEEA (e X) 82 30 87 0 88 0 30 82 |85. 88
66 | wIE | GEHRIIX) 91 0 80 28 28 80 |85. 91
67 | ME FX (F X) PN 85 1 82 26 27 82 |83. 85
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68 | Fri BFIE (FHIX) 86 0 89 0 82 26 26 82 |85. 89
69 | HIR ES (FBHLIX) 86 6 89 0 83 20 26 83 | 86. 89
70 | Al EA ( X) 80 25 88 0 25 80 |84. 88
71| MilE PRt ) 94 0 88 0 80 25 89 0 25 80 |87. 94
2 & WA Gk X) 88 0 80 25 25 80 |84. 88
73 PN K R X 83 22 iV 22 83 |83. 83
4| 2R B R 83 22 22 83 |83. 83
75 | Bl B (B 5LIX) 89 0 86 0 83 20 20 83 | 86. 89
76 | PipE SR | (R 92 0 90 0 83 20 20 83 |88. 92
7| AT 3 (A IX) HHTR Y 82 17 89 0 90 0 17 82 |87. 90
8 | KT BA (LX) 84 15 86 0 93 0 15 84 |87. 93
9 | UifE BT (R IX) 87 0 85 0 83 10 87 2 12 83 |85. 87
80 | HiE HE— (FHX) AR 83 9 86 0 87 2 11 83 |85. 87
81 | )& 5L (hk ) 85 10 85 1 11 85 |85. 85
82 | HH R (B RL1X) 96 0 86 0 83 10 94 0 10 83 |89. 96
83 | HF & (FEEX) 85 10 93 0 10 85 |89. 93
84 | AR Fnfd U X) 87 0 83 9 88 0 88 0 9 83 | 86. 88
85 | KJII M R X 88 0 83 9 90 0 9 83 | 87. 90
86 | #Ji HIZ (hk X) 86 6 86 0 85 1 FHIR S 7 85 |85. 86
87 | TE K (LX) 96 0 84 5 88 0 5 84 |89. 96
88 | ARA i (75 X) E e 90 0 84 5 5 84 |87. 90
89 | I (B 1X) 88 0 95 0 86 4 4 86 | 89. 95
90 | A FIR (FHX) 89 0 84 2 85 1 3 84 |86. 89
91 | =H HE Gk 1X) 96 0 92 0 92 0 87 2 2 87 |91. 96
92 | JRE] HE— (B 1X) 96 0 84 2 2 84 | 90. 96
93 | Hril Ve (8 5. 1X) 84 2 2 84 |84. 84
94 | pKH  FEIE (HRHLX) 95 0 85 1 88 0 1 85 | 89. 95
95 | A FFE (FEEX) 88 0 85 1 91 0 1 85 |88. 91
96 | MI'F 8 (FBHLX) HHTR Y 89 0 88 0 0 88 |8s. 89
97 | HEfE EA (B 1) 93 0 89 0 91 0 89 0 0 89 | 90. 93
98 | P HR | GEEIIX) HHT R 91 0 0 91 |91. 91
99 | /il HE— (FHEX) 88 0 85 0 86 0 92 0 0 85 |87. 92
100 | TS MBS (FFHEX) 88 0 86 0 87 0 94 0 0 86 | 88. 94
101 | s il () 97 0 92 0 94 0 0 92 | 94. 97
102 | JII4  fdw] G X) 105 0 93 0 FHIR S 94 0 0 93 |97. 105
103 | AR i (AR ) 87 0 94 0 0 87 | 90. 94
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104 | SFP #RA (FHEX) 88 0 86 0 95 0 0 86 |89.7 | 95
105 | BR EF (&1 1X) 91 0 92 0 95 0 0 91 ]92.7 | 95
106 | Hili B (FHIX) 90 0 87 0 87 0 96 0 0 87 190.0 | 96
107 | &0 L4'g (B 1X) 95 0 98 0 0 95 196.5 | 98
108 | >kMH il G X)) 90 0 88 0 E NIV 0 88 189.0 | 90
109 | i K (FEIX) 87 0 91 0 107 0 HHTR G 0 87 195.0 | 107
1o | —m ¥ () 87 0 86 0 0 86 |86.5 | 87
11| B = (h X 95 0 89 0 86 0 0 86 [90.0 | 95
12 | &k 4k = X) 87 0 0 87 |87.0 | 87
113 | FHH BE (F X) 88 0 0 88 |88.0 | 88
114 | A& #— (A ) 89 0 0 89 [89.0 | 89
15 | Jifs 2| G 96 0 90 0 0 90 193.0 | 96
116 | iy = (& X) 89 0 90 0 TR Y 0 89 [89.5 | 90
117 | #%r A h X 95 0 FHH1K 0 95 95.0 | 95
118 | W &K h ) 89 0 TR Y 0 89 189.0 | 89
119 | AW FJA | $RErBX) | 91 0 SIS 0 91 ]91.0 | 91
120 | A& KRR (B X) 90 0 0 90 190.0 | 90
121 | 7k = (6 52.1%) 88 0 93 0 0 88 190.5 | 93
122 | FpE R (FHEX) 90 0 93 0 0 90 |91.5 | 93
123 | RB gkt | GREIIX) 87 0 0 87 |87.0 | 87
124 | KREE 3R (F1X) 90 0 0 90 90.0 | 90
125 | 1 KR (B 1-1X) 91 0 0 91 |91.0 | 91
126 | /I Oy | Rty | 94 0 0 94 194.0 | 94
127 | & Fif (M X) 94 0 0 94 194.0 | 94
128 | /N B (FHEX) 98 0 0 98 |98.0 | 98
129 | % KIEF] (&R 1X) 103 0 0 103 [103.0 | 103
130 | A Bk (B 1-1X) HHTR Y 0 1000 | - 0
131 | B EFE | FRIIX) TR Y 0 1000 | - 0
132 | /M HRE () HHTR Y 0 1000 | - 0
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